

CONDITIONAL FOURIER-FEYNMAN TRANSFORM AND CONVOLUTION PRODUCT FOR A VECTOR VALUED CONDITIONING FUNCTION

BONG JIN KIM

ABSTRACT. Let $C_0[0, T]$ denote the Wiener space, the space of continuous functions $x(t)$ on $[0, T]$ such that $x(0) = 0$. Define a random vector $Z_{\bar{e}, k} : C_0[0, T] \rightarrow \mathbb{R}^k$ by

$$Z_{\bar{e}, k}(x) = \left(\int_0^T e_1(t) dx(t), \dots, \int_0^T e_k(t) dx(t) \right)$$

where $e_j \in L_2[0, T]$ with $e_j \neq 0$ a.e., $j = 1, \dots, k$. In this paper we study the conditional Fourier-Feynman transform and a conditional convolution product for a cylinder type functionals defined on $C_0[0, T]$ with a general vector valued conditioning functions $Z_{\bar{e}, k}$ above which need not depend upon the values of x at only finitely many points in $(0, T]$ rather than a conditioning function $X(x) = (x(t_1), \dots, x(t_n))$ where $0 < t_1 < \dots < t_n = T$. In particular we show that the conditional Fourier-Feynman transform of the conditional convolution product is the product of conditional Fourier-Feynman transforms.

1. Introduction

Let $C_0[0, T]$ denote the Wiener space, the space of real valued continuous functions x on $[0, T]$ such that $x(0) = 0$. Let $z_h(x, t) = \int_0^t h(s) dx(s)$ be the Gaussian process with $h(\neq 0$ a.e.) in $L_2[0, T]$ and the integral $\int_0^t h(s) dx(s)$ denote the Paley-Wiener-Zygmund stochastic integral [3, 9].

Note that z_h is a Gaussian process with mean zero and covariance function

$$\int_{C_0[0, T]} z_h(x, t) z_h(x, s) dm(x) = \int_0^{\min\{s, t\}} h^2(u) du$$

where the left hand side of above denotes the Wiener integral. Of course if $h \equiv 1$ on $[0, T]$, then $z_h(x, t) = x(t)$ is the standard Wiener process. For convenience, throughout this paper, we will let $z_h(x, T) = z_h(x)$.

In [7], the authors consider a general vector valued conditioning functions to study the conditional integral transforms and convolutions. In [1], Cameron and Storvick defined a Fourier-Feynman transform of functionals on $C_0[0, T]$. Chung and Skoug

Received January 25, 2022. Revised May 2, 2022. Accepted May 2, 2022.

2010 Mathematics Subject Classification: 28C20.

Key words and phrases: conditional analytic Feynman integral, conditional convolution product, conditional Fourier-Feynman transform, conditional Wiener integral, simple formula for conditional Wiener integral.

© The Kangwon-Kyungki Mathematical Society, 2022.

This is an Open Access article distributed under the terms of the Creative Commons Attribution Non-Commercial License (<http://creativecommons.org/licenses/by-nc/3.0/>) which permits unrestricted non-commercial use, distribution and reproduction in any medium, provided the original work is properly cited.

introduced the concept of a conditional Feynman integral [5], while Park and Skoug introduced the concept of a conditional Fourier-Feynman transforms and a conditional convolution for functionals defined on $C_0[0, T]$ with the conditioning function $X(x) = \int_0^T h(s)dx(s)$ where $h \in L_2[0, T]$ [10]. In [2], Chang, et al. developed the conditional Fourier Feynman transform and convolution product over Wiener paths in abstract Wiener space, concerned an conditioning function which depend upon the value of x at some finitely many points in $(0, T)$; that is, $X_k : C_0[0, T] \rightarrow \mathbb{R}^k$ with $X_k(x) = (x(t_1), \dots, x(t_k))$, where $0 < t_1 < t_2 < \dots < t_k = T$ for any fixed positive integer k .

In this paper we study the conditional Fourier-Feynman transform and a conditional convolution product for a cylinder type functionals on $C_0[0, T]$ with a general vector valued conditoning functions of the form $Z_{\vec{h},k}(x) = (z_{h_1}(x), \dots, z_{h_k}(x))$ which need not depend upon the value of x in $C_0[0, T]$ at only finitely many points in $(0, T]$ rather than a conditioning function $X(x) = (x(t_1), \dots, x(t_n))$ where $0 < t_1 < \dots < t_n = T$. And we show that the conditional Fourier-Feynman transform of the conditional convolution product is the product of conditional Fourier-Feynman transforms.

2. Definitions and preliminaries

In this section we introduce a conditional Wiener integral, conditional Fourier-Feynman transform and conditional convolution product for a general vector valued conditioning function.

Let \mathcal{H} be an infinite dimensional subspace of $L_2[0, T]$ with a complete orthonormal basis $\{e_j\}$. For each $k \in \mathbb{N}$ let \mathcal{H}_k be a subspace of \mathcal{H} spanned by $\{e_1, e_2, \dots, e_k\}$ and let $Z_{\vec{e},k} : C_0[0, T] \rightarrow \mathbb{R}^k$ be the conditioning function defined by

$$(2.1) \quad Z_{\vec{e},k}(x) = (z_{e_1}(x), \dots, z_{e_k}(x)).$$

Further, for $h \in L_2[0, T]$, let

$$(2.2) \quad \mathcal{P}_k h(t) = \sum_{j=1}^k (h, e_j)e_j(t)$$

be the orthogonal projection from $L_2[0, T]$ onto the subspace generated by $\{e_1, e_2, \dots, e_k\}$ where (\cdot, \cdot) denotes the inner product on the real Hilbert space $L_2[0, T]$. Then we see that $h - \mathcal{P}_k h$ is orthogonal to $e_j, j = 1, \dots, k$. For convenience, let

$$(2.3) \quad x_k(t) = \int_0^T \mathcal{P}_k \mathcal{I}_{[0,t]}(s)dx(s) = \sum_{j=1}^k z_{e_j}(x) \int_0^t e_j(s)ds$$

and

$$(2.4) \quad \vec{\xi}_k(t) = \sum_{j=1}^k \xi_j(e_j, \mathcal{I}_{[0,t]}) = \sum_{j=1}^k \xi_j \int_0^t e_j(s)ds$$

where $x \in C_0[0, T], \vec{\xi} = (\xi_1, \dots, \xi_k) \in \mathbb{R}^k$ and $\mathcal{I}_{[0,t]}$ is the indicator function of the interval $[0,t]$.

From [9], we can see that the process $\{x(t) - x_k(t), 0 \leq t \leq T\}$ and $z_{e_j}(x)$ are stochastically independent for $j = 1, \dots, k$. Also for $0 \leq t \leq T$ as an immediate consequence of above, two processes $\{x(t) - x_k(t)\}$ and $\{x_k(t)\}$ are independent.

Let $F : C_0[0, T] \rightarrow \mathbb{C}$ be integrable functional and let $Z_{\vec{e},k}$ be a random vector on $C_0[0, T]$ given by (2.1). Then we have the conditional Wiener integral $E[F|Z_{\vec{e},k}]$ given $Z_{\vec{e},k}$ from a well-known probability theory. For a more detailed survey of the conditional Wiener integrals see [4, 9,10,11].

In [9], Park and Skoug gave a useful simple formula to express conditional Wiener integrals in terms of ordinary Wiener integrals ($E[F]$); namely for the conditioning function $Z_{\vec{e},k}(x)$ given by (2.1),

$$(2.5) \quad E_x[F(x)|Z_{\vec{e},k}(x)](\vec{\xi}) = E_x[F(x - x_k + \vec{\xi}_k)]$$

for $P_{Z_{\vec{e},k}} - a.e. \vec{\xi} \in \mathbb{R}^k$, where $P_{Z_{\vec{e},k}}$ is the probability distribution of $Z_{\vec{e},k}$ on $(\mathbb{R}^k, \mathcal{B}(\mathbb{R}^k))$.

In this paper we shall be concerned exclusively with $Z_{\vec{e},k}(x)$ given by (2.1) for the the conditioning function.

For $\lambda > 0$, and $\vec{\xi} \in \mathbb{R}^k$, suppose $E[F(\lambda^{-\frac{1}{2}} \cdot)|Z_{\vec{e},k}(\lambda^{-\frac{1}{2}} \cdot)](\vec{\xi})$ exists.

From (2.5) we have

$$(2.6) \quad \begin{aligned} & E_x[F(\lambda^{-\frac{1}{2}}x)|Z_{\vec{e},k}(\lambda^{-\frac{1}{2}}x)](\vec{\xi}) \\ &= E_x[F(\lambda^{-\frac{1}{2}}(x - x_k) + \vec{\xi}_k)] \end{aligned}$$

for $a.e. \vec{\xi} \in \mathbb{R}^k$.

If, for $\vec{\xi} \in \mathbb{R}^k$, $E_x[F(\lambda^{-\frac{1}{2}}(x - x_k) + \vec{\xi}_k)]$ has the analytic extension $J_\lambda(\vec{\xi})$ on $\mathbb{C}_+ \equiv \{\lambda \in \mathbb{C} | Re\lambda > 0\}$, then we write

$$(2.7) \quad J_\lambda(\vec{\xi}) = E_x^{anw\lambda}[F(x)|Z_{\vec{e},k}(x)](\vec{\xi})$$

for $\lambda \in \mathbb{C}_+$.

In this case, we call $J_\lambda(\vec{\xi})$ a conditional analytic Wiener integral of F given $Z_{\vec{e},k}$.

For non zero real number q and $\vec{\xi} \in \mathbb{R}^k$, if the limit

$$(2.8) \quad \lim_{\lambda \rightarrow -iq} E_x^{anw\lambda}[F(x)|Z_{\vec{e},k}(x)](\vec{\xi})$$

exists, where λ approaches to $-iq$ through \mathbb{C}_+ , then we write

$$(2.9) \quad \lim_{\lambda \rightarrow -iq} E_x^{anw\lambda}[F(x)|Z_{\vec{e},k}(x)](\vec{\xi}) = E_x^{anf^q}[F(x)|Z_{\vec{e},k}(x)](\vec{\xi}).$$

In this case, we call $E_x^{anf^q}[F(x)|Z_{\vec{e},k}(x)](\vec{\xi})$ a conditional analytic Feynman integral of F given $Z_{\vec{e},k}$.

Next we state the definitions of the L_1 analytic Fourier-Feynman transform and the convolution product given in [7]. For $\lambda \in \mathbb{C}_+$ and $y \in C_0[0, T]$, let

$$(2.10) \quad T_\lambda(F)(y) = E_x^{anw\lambda}[F(y + x)].$$

We define L_1 analytic Fourier-Feynman transform , $T_q^{(1)}(F)$ of F , by the formula

$$(2.11) \quad T_q^{(1)}(F)(y) = \lim_{\lambda \rightarrow -iq} T_\lambda(F)(y)$$

if it exists $\lambda \in \mathbb{C}_+$. We note that $T_q^{(1)}(F)$ is only defined for s-a.e. $y \in C_0[0, T]$. Also if $T_q^{(1)}(F)$ exists and $F \approx G$, then $T_q^{(1)}(G)$ exists and $T_q^{(1)}(G) \approx T_q^{(1)}(F)$.

We define the convolution product $(F * G)_\lambda$ by

$$(2.12) \quad (F * G)_\lambda(y) = \begin{cases} E_x^{anw\lambda} [F(\frac{y+x}{\sqrt{2}})G(\frac{y-x}{\sqrt{2}})], & \lambda \in \mathbb{C}_+ \\ E_x^{anf_q} [F(\frac{y+x}{\sqrt{2}})G(\frac{y-x}{\sqrt{2}})], & \lambda = -iq, q \in \mathbb{R}, q \neq 0 \end{cases}$$

if it exists.

REMARK 2.1. The convolution product above is commutative, that is to say, $(F * G)_\lambda = (G * F)_\lambda$ for all $\lambda \in \mathbb{C}$ with $\lambda \neq 0$ and $Re\lambda \geq 0$. When $\lambda = -iq (q \neq 0)$ we denote $(F * G)_\lambda$ by $(F * G)_q$.

Next we define conditional Fourier-Feynman transform and the conditional convolution product.

DEFINITION 2.2. Let F and G be defined on $C_0[0, T]$ and $Z_{\vec{e},k}$ be given by (2.1). For $\lambda \in \mathbb{C}_+$, $y \in C_0[0, T]$ and $\vec{\xi} \in \mathbb{R}^k$, let

$$(2.13) \quad T_\lambda(F|Z_{\vec{e},k})(y, \vec{\xi}) = E_x^{anw\lambda}(F(y+x)|Z_{\vec{e},k})(\vec{\xi})$$

if it exists. For nonzero real number q , we define the conditional Fourier-Feynman transform(if it exists) of F given $Z_{\vec{e},k}$ by the formula

$$(2.14) \quad T_q^{(1)}(F|Z_{\vec{e},k})(y, \vec{\xi}) = \lim_{\lambda \rightarrow -iq} T_\lambda(F|Z_{\vec{e},k})(y, \vec{\xi})$$

where λ approach to $-iq$ through \mathbb{C}_+ and we define the conditional convolution product of F and G given $Z_{\vec{e},k}$ by the formula

$$(2.15) \quad ((F * G)_\lambda|Z_{\vec{e},k})(y, \vec{\xi}) = \begin{cases} E_x^{anw\lambda} [F(\frac{y+x}{\sqrt{2}})G(\frac{y-x}{\sqrt{2}})|Z_{\vec{e},k}](\vec{\xi}), & \lambda \in \mathbb{C}_+ \\ E_x^{anf_q} [F(\frac{y+x}{\sqrt{2}})G(\frac{y-x}{\sqrt{2}})|Z_{\vec{e},k}](\vec{\xi}), & \lambda = -iq. \end{cases}$$

Under rather mild conditions on F and G , we have the following Theorems 2.3 and 2.4. Our next theorem shows that the analytic Fourier-Feynman transform of the convolution product is the product of analytic Fourier-Feynman transforms.

THEOREM 2.3. Assume $T_q^{(1)}(F)$, $T_q^{(1)}(G)$ and $T_q^{(1)}((F * G)_q)$ all exists at $q \in \mathbb{R} - \{0\}$. Then

$$(2.16) \quad T_q^{(1)}((F * G)_q)(y) = T_q^{(1)}(F)(\frac{y}{\sqrt{2}})T_q^{(1)}(G)(\frac{y}{\sqrt{2}})$$

for s-a.e. $y \in C_0[0, T]$.

Proof. In view of (2.11), (2.10) it will suffice to show that $T_\lambda((F * G)_\lambda)(y) = T_\lambda(F)(\frac{y}{\sqrt{2}})T_\lambda(G)(\frac{y}{\sqrt{2}})$ for $\lambda > 0$. But for all $\lambda > 0$,

$$(2.17) \quad \begin{aligned} T_\lambda((F * G)_\lambda)(y) &= E_x[((F * G)_\lambda)(y + \lambda^{-\frac{1}{2}}x)] \\ &= E_x[E_w[F(\frac{y + \lambda^{-\frac{1}{2}}x + \lambda^{-\frac{1}{2}}w}{\sqrt{2}})G(\frac{y + \lambda^{-\frac{1}{2}}x - \lambda^{-\frac{1}{2}}w}{\sqrt{2}})]] \\ &= E_x[E_w[[F(\frac{y + \lambda^{-\frac{1}{2}}(x+w)}{\sqrt{2}})G(\frac{y + \lambda^{-\frac{1}{2}}(x-w)}{\sqrt{2}})]]]. \end{aligned}$$

But $\frac{x+w}{\sqrt{2}}$ and $\frac{x-w}{\sqrt{2}}$ are independent Gaussian processes and each is equivalent to x . Hence

$$(2.18) \quad \begin{aligned} T_\lambda((F * G)_\lambda)(y) &= E_x[F(\frac{y}{\sqrt{2}} + \lambda^{-\frac{1}{2}}x)]E_x[G(\frac{y}{\sqrt{2}} + \lambda^{-\frac{1}{2}}x)] \\ &= T_\lambda(F)(\frac{y}{\sqrt{2}})T_\lambda(G)(\frac{y}{\sqrt{2}}) \end{aligned}$$

which concludes the proof of Theorem 2.3. □

Next theorem shows that the conditional Fourier-Feynman transform of the conditional convolution product is the product of conditional Fourier-Feynman transforms.

THEOREM 2.4. *Assume $T_q^{(1)}(((F * G)_q|Z_{\vec{e},k})(\cdot, \vec{\xi})|Z_{\vec{e},k})(y, \vec{\eta})$, $T_q^{(1)}(F|Z_{\vec{e},k})$ and $T_q^{(1)}(G|Z_{\vec{e},k})$ all exists at $q \in \mathbb{R} - \{0\}$. Then*

$$(2.19) \quad \begin{aligned} &T_q^{(1)}(((F * G)_q|Z_{\vec{e},k})(\cdot, \vec{\xi})|Z_{\vec{e},k})(y, \vec{\eta}) \\ &= T_q^{(1)}(F|Z_{\vec{e},k})(\frac{y}{\sqrt{2}}, \frac{\vec{\eta} + \vec{\xi}}{\sqrt{2}})T_q^{(1)}(G|Z_{\vec{e},k})(\frac{y}{\sqrt{2}}, \frac{\vec{\eta} - \vec{\xi}}{\sqrt{2}}) \end{aligned}$$

for s-a.e. $y \in C_0[0, T]$.

Proof. Using the same process used in the proof of Theorem 2.3, we only need to consider the case where $\lambda > 0$. From (2.5), (2.13) and (2.15) we observe that for all $\lambda > 0$,

$$(2.20) \quad \begin{aligned} &T_\lambda(((F * G)_\lambda|Z_{\vec{e},k})(\cdot, \vec{\xi})|Z_{\vec{e},k})(y, \vec{\eta}) \\ &= E_x \left[((F * G)_\lambda|Z_{\vec{e},k})(y + \lambda^{-\frac{1}{2}}(x - x_k) + \vec{\eta}_k, \vec{\xi}) \right] \\ &= E_x [E_w [F(\frac{1}{\sqrt{2}}(y + (\vec{\eta}_k + \vec{\xi}_k) + \lambda^{-\frac{1}{2}}(x - x_k + w - w_k))) \\ &\quad G(\frac{1}{\sqrt{2}}(y + (\vec{\eta}_k - \vec{\xi}_k) + \lambda^{-\frac{1}{2}}(x - x_k - w + w_k)))]]. \end{aligned}$$

Now, $x - x_k + w - w_k$ and $x - x_k - w + w_k$ are independent processes as we can be seen by checking their covariance functions. Hence the expectation of FG equals the product of the expectations and so using (2.15) and (2.13) we see that

$$(2.21) \quad \begin{aligned} &T_\lambda(((F * G)_\lambda|Z_{\vec{e},k})(\cdot, \vec{\xi})|Z_{\vec{e},k})(y, \vec{\eta}) \\ &= E_x [E_w [F(\frac{1}{\sqrt{2}}(y + (\vec{\eta}_k + \vec{\xi}_k) + \lambda^{-\frac{1}{2}}(x - x_k + w - w_k))) \\ &\quad G(\frac{1}{\sqrt{2}}(y + (\vec{\eta}_k - \vec{\xi}_k) + \lambda^{-\frac{1}{2}}(x - x_k - w + w_k)))]]. \end{aligned}$$

Now, $\frac{x+w}{\sqrt{2}}$ is equivalent to x and so is $\frac{x-w}{\sqrt{2}}$.

Hence for $\lambda > 0$,

$$\begin{aligned}
 & T_\lambda(((F * G)_\lambda | Z_{\vec{e},k})(\cdot, \vec{\xi}) | Z_{\vec{e},k})(y, \vec{\eta}) \\
 &= E_x[F(\frac{y}{\sqrt{2}} + \lambda^{-\frac{1}{2}}x) | Z_{\vec{e},k}(\lambda^{-\frac{1}{2}}x) = \frac{\vec{\eta} + \vec{\xi}}{\sqrt{2}}] \\
 (2.22) \quad & E_x[G(\frac{y}{\sqrt{2}} + \lambda^{-\frac{1}{2}}x) | Z_{\vec{e},k}(\lambda^{-\frac{1}{2}}x) = \frac{\vec{\eta} - \vec{\xi}}{\sqrt{2}}] \\
 &= T_\lambda(F | Z_{\vec{e},k})(\frac{y}{\sqrt{2}}, \frac{\vec{\eta} + \vec{\xi}}{\sqrt{2}}) T_\lambda(G | Z_{\vec{e},k})(\frac{y}{\sqrt{2}}, \frac{\vec{\eta} - \vec{\xi}}{\sqrt{2}}).
 \end{aligned}$$

□

3. Conditional Fourier-Feynman transform and convolution for the cylinder type functionals

Now we describe the class of functionals that we work with in this paper. Let $\{\theta_1, \theta_2, \dots\}$ be a complete orthonormal set of \mathbb{R} -valued functions in $L_2[0, T]$ and assume that each θ_j is of bounded variation on $[0, T]$. Then for each $y \in C_0[0, T]$ and $j = 1, 2, \dots$, the Riemann-Stieltjes integral $\langle \theta_j, y \rangle \equiv \int_0^T \theta_j(t) dy(t)$ exists.

For $0 \leq \sigma < 1$, let E_σ be the space of all cylinder type functionals $F : C_0[0, T] \rightarrow \mathbb{C}$ of the form

$$(3.1) \quad F(y) = f(\langle \theta_1, y \rangle, \dots, \langle \theta_n, y \rangle) = f(\langle \vec{\theta}, y \rangle)$$

for some positive integer n , where $f(\lambda_1, \dots, \lambda_n) = f(\vec{\lambda})$ is an entire function of n complex variables $\lambda_1, \dots, \lambda_n$ of exponential type; that is to say

$$(3.2) \quad |f(\vec{\lambda})| \leq A_F \exp\{B_F \sum_{j=1}^n |\lambda_j|^{1+\sigma}\}$$

for some positive constants A_F and B_F .

Now let $\{u_1 - \mathcal{P}_k u_1, \dots, u_m - \mathcal{P}_k u_m\}$ be a maximal independent subset of $\{\theta_1 - \mathcal{P}_k \theta_1, \dots, \theta_n - \mathcal{P}_k \theta_n\}$ with $m \leq n$ if it exists, where \mathcal{P}_k is the orthogonal projection given by (2.2). Let $\{\phi_1, \dots, \phi_m\}$ be the orthonormal set obtained from $\{u_1 - \mathcal{P}_k u_1, \dots, u_m - \mathcal{P}_k u_m\}$ using Gram-Schmidt orthonormalization process. Then we can find $m \times n$ matrix $A_{mn} = (a_{i,j})$ with

$$(3.3) \quad \vec{\theta} - \mathcal{P}_k \vec{\theta} = (\sum_{j=1}^m a_{j,1} \phi_j, \dots, \sum_{j=1}^m a_{j,n} \phi_j) = \vec{\phi} A_{mn}$$

where $\vec{\theta} = (\theta_1, \dots, \theta_n)$ and $\vec{\theta} - \mathcal{P}_k \vec{\theta} = (\theta_1 - \mathcal{P}_k \theta_1, \dots, \theta_n - \mathcal{P}_k \theta_n)$.

In our next theorem we show that the conditional Fourier-Feynman transform of functionals from E_σ for the general vector valued conditioning function $Z_{\vec{e},k}$ is an element of E_σ .

THEOREM 3.1. *Let $F \in E_\sigma$ and $Z_{\vec{e},k}$ be given by (3.1) and (2.1), respectively. Then for each nonzero real number q , conditional Fourier-Feynman transform $T_q^{(1)}(F | Z_{\vec{e},k})$ exists, belongs to E_σ and is given by*

$$\begin{aligned}
 & T_q^{(1)}(F|Z_{\vec{e},k})(y, \vec{\eta}) \\
 (3.4) \quad & = \left(\frac{q}{2\pi i}\right)^{\frac{m}{2}} \int_{\mathbb{R}^m} f(\vec{v}A_{m_n} + \langle \vec{\theta}, \vec{\eta}_k \rangle + \langle \vec{\theta}, y \rangle) \exp\left\{-\frac{q}{2i}\|\vec{v}\|^2\right\} d\vec{v}
 \end{aligned}$$

where $\|\vec{v}\|^2 = \sum_{j=1}^m v_j^2$ and $\vec{v} = (v_1, \dots, v_m)$.

Proof. For $\lambda > 0$, and $\vec{\eta} \in \mathbb{R}^k$,

$$\begin{aligned}
 & T_\lambda(F|Z_{\vec{e},k})(y, \vec{\eta}) \\
 (3.5) \quad & = E_x[F(y + \lambda^{-\frac{1}{2}}(x - x_k) + \vec{\eta}_k)] \\
 & = E_x[f(\langle \vec{\theta}, y + \lambda^{-\frac{1}{2}}(x - x_k) + \vec{\eta}_k \rangle)] \\
 & = E_x[f(\langle \vec{\theta}, y \rangle + \langle \vec{\theta}, \vec{\eta}_k \rangle + \lambda^{-\frac{1}{2}}\langle \vec{\theta}, x - x_k \rangle)].
 \end{aligned}$$

From [8] we can see

$$\langle \vec{\theta}, x - x_k \rangle = \langle \vec{\theta} - \mathcal{P}_k \vec{\theta}, x \rangle = \langle \vec{\phi} A_{m_n}, x \rangle$$

$\vec{\phi} = (\phi_1, \dots, \phi_m)$ and $A_{m_n} = (a_{ij})_{m \times n}$. Using Gaussian process property, Wiener integration formula and the change of variables, we see that for $\lambda > 0$

$$\begin{aligned}
 & T_\lambda(F|Z_{\vec{e},k})(y, \vec{\eta}) \\
 (3.6) \quad & = E_x[f(\lambda^{-\frac{1}{2}}\langle \vec{\phi} A_{m_n}, x \rangle + \langle \vec{\theta}, \vec{\eta}_k \rangle + \langle \vec{\theta}, y \rangle)] \\
 & = \left(\frac{\lambda}{2\pi}\right)^{\frac{m}{2}} \int_{\mathbb{R}^m} f(\vec{u}A_{m_n} + \langle \vec{\theta}, \vec{\eta}_k \rangle + \langle \vec{\theta}, y \rangle) \exp\left\{-\frac{\lambda}{2}\sum_{j=1}^m u_j^2\right\} d\vec{u}.
 \end{aligned}$$

where $\vec{u} = (u_1, \dots, u_m)$.

But the last expression above is an analytic function of λ in \mathbb{C}_+ and is a bounded continuous function of $\lambda \in \mathbb{C}_+$. Hence $T_q^{(1)}(F|Z_{\vec{e},k})$ exists and is given by (3.4).

If we let $T_\lambda(F|Z_{\vec{e},k})(y, \vec{\eta}) = h_{\lambda, \vec{\eta}}(\langle \vec{\theta}, y \rangle)$ where

$$h_{\lambda, \vec{\eta}}(\vec{\gamma}) = \left(\frac{\lambda}{2\pi}\right)^{\frac{m}{2}} \int_{\mathbb{R}^m} f(\vec{u}A_{m_n} + \langle \vec{\theta}, \vec{\eta}_k \rangle + \vec{\gamma}) \exp\left\{-\frac{\lambda}{2}\sum_{j=1}^m u_j^2\right\} d\vec{u}$$

then by [6, Theorem 3.15] $h_{\lambda, \vec{\eta}}(\vec{\gamma})$ is an entire function. Furthermore using the integration $\int_{\mathbb{R}} e^{-\alpha v^2 + \beta v} dv < \infty$ for $\alpha > 0$ and $\beta \in \mathbb{R}$, we can see, $h_{\lambda, \vec{\eta}}(\vec{\gamma})$ is an element of E_σ as a function of $\vec{\gamma}$ [8]. Hence for $\lambda > 0$, $T_\lambda(F|Z_{\vec{e},k}) \in E_\sigma$ as a function of y . \square

COROLLARY 3.2. *Let $F \in E_\sigma$ and $Z_{\vec{e},k}$ be as in Theorem 3.1. If $\{\theta_1, \theta_2, \dots, \theta_n, e_1, \dots, e_k\}$ is an orthonormal set of functions in $L_2[0, T]$, then*

$$(3.7) \quad T_q^{(1)}(F|Z_{\vec{e},k})(y, \vec{\eta}) = T_q^{(1)}(F)(y).$$

Proof. As we noted in the proof of Theorem 2.3, we only need to consider the case when $\lambda > 0$. Using definition of the Riemann-Stieltjes integral and the condition of $\{\theta_1, \theta_2, \dots, \theta_n, e_1, \dots, e_k\}$ above together with the notations (2.3) and (2.4) we obtain

$$\langle \theta_j, x_k \rangle = 0 = \langle \theta_j, \vec{\eta}_k \rangle$$

for each $j = 1, \dots, n$. Then from (3.5) and (2.10), we have

$$T_\lambda(F|Z_{\vec{e},k})(y, \vec{\eta}) = E_x[f(\langle \vec{\theta}, y \rangle + \lambda^{-\frac{1}{2}} \langle \vec{\theta}, x \rangle) = T_\lambda(F)(y)$$

for $\lambda > 0$ and $\vec{\eta} \in \mathbb{R}^k$. □

In Theorem 3.2 below we obtain the formula for conditional convolution product of functionals for the general vector valued conditioning function.

THEOREM 3.3. *Let $F_j \in E_\sigma$ be given by (3.1) with corresponding entire functions f_j for $j = 1, 2$ and let $Z_{\vec{e},k}$ be given by (2.1). Then for each nonzero real number q , conditional convolution product $((F_1 * F_2)_q|Z_{\vec{e},k})$ exists, belongs to E_σ and is given by*

$$\begin{aligned} & ((F_1 * F_2)_q|Z_{\vec{e},k})(y, \vec{\eta}) \\ (3.8) \quad &= \left(\frac{q}{2\pi i}\right)^{\frac{m}{2}} \int_{\mathbb{R}^m} f_1\left(\frac{\langle \vec{\theta}, y \rangle + q\vec{v}A_{m_n} + q\langle \vec{\theta}, \vec{\eta}_k \rangle}{\sqrt{2}}\right) \\ & f_2\left(\frac{\langle \vec{\theta}, y \rangle - q\vec{v}A_{m_n} - q\langle \vec{\theta}, \vec{\eta}_k \rangle}{\sqrt{2}}\right) \exp\left\{-\frac{q}{2i}\|\vec{v}\|^2\right\} d\vec{v} \end{aligned}$$

where $\|\vec{v}\| = \sum_{j=1}^m v_j^2$ and $\vec{v} = (v_1, \dots, v_m)$ for $y \in C_0[0, T]$.

Proof. For $\lambda > 0$, and a.e. $\vec{\eta} \in \mathbb{R}^k$,

$$\begin{aligned} & ((F_1 * F_2)_\lambda|Z_{\vec{e},k})(y, \vec{\eta}) = E_x^{anw_\lambda}[F_1\left(\frac{y+x}{\sqrt{2}}\right)F_2\left(\frac{y-x}{\sqrt{2}}\right)|Z_{\vec{e},k} = \vec{\eta}] \\ &= E_x[F_1\left(\frac{1}{\sqrt{2}}(y + \lambda^{-\frac{1}{2}}(x - x_k) + \vec{\eta}_k)\right)F_2\left(\frac{1}{\sqrt{2}}(y - \lambda^{-\frac{1}{2}}(x - x_k) - \vec{\eta}_k)\right)] \\ &= E_x[f_1\left(\frac{1}{\sqrt{2}}(\langle \vec{\theta}, y \rangle + \lambda^{-\frac{1}{2}}\langle \vec{\theta}, x - x_k \rangle + \langle \vec{\theta}, \vec{\eta}_k \rangle)\right) \\ & f_2\left(\frac{1}{\sqrt{2}}(\langle \vec{\theta}, y \rangle - \lambda^{-\frac{1}{2}}\langle \vec{\theta}, x - x_k \rangle - \langle \vec{\theta}, \vec{\eta}_k \rangle)\right)] \\ (3.9) \quad &= E_x[f_1\left(\frac{1}{\sqrt{2}}(\langle \vec{\theta}, y \rangle + \lambda^{-\frac{1}{2}}\langle \vec{\phi}A_{m_n}, x \rangle + \langle \vec{\theta}, \vec{\eta}_k \rangle)\right) \\ & f_2\left(\frac{1}{\sqrt{2}}(\langle \vec{\theta}, y \rangle - \lambda^{-\frac{1}{2}}\langle \vec{\phi}A_{m_n}, x \rangle - \langle \vec{\theta}, \vec{\eta}_k \rangle)\right)] \\ &= \left(\frac{\lambda}{2\pi}\right)^{\frac{m}{2}} \int_{\mathbb{R}^m} f_1\left(\frac{1}{\sqrt{2}}(\langle \vec{\theta}, y \rangle + \vec{v}A_{m_n} + \langle \vec{\theta}, \vec{\eta}_k \rangle)\right) \\ & f_2\left(\frac{1}{\sqrt{2}}(\langle \vec{\theta}, y \rangle - \vec{v}A_{m_n} - \langle \vec{\theta}, \vec{\eta}_k \rangle)\right) \exp\left\{-\frac{\lambda}{2}\sum_{j=1}^m v_j^2\right\} d\vec{v}. \end{aligned}$$

But (3.8) now follows directly from (3.9) since the last expression in (3.9) above an entire function of λ in \mathbb{C}_+ .

If we let $((F_1 * F_2)_\lambda|Z_{\vec{e},k})(y, \vec{\eta}) = L_{\lambda, \vec{\eta}}(\langle \vec{\theta}, y \rangle)$ where

$$\begin{aligned} & L_{\lambda, \vec{\eta}}(\vec{\gamma}) = \left(\frac{\lambda}{2\pi}\right)^{\frac{m}{2}} \int_{\mathbb{R}^m} f_1\left(\frac{1}{\sqrt{2}}(\langle \vec{\theta}, y \rangle + \vec{v}A_{m_n} + \langle \vec{\theta}, \vec{\eta}_k \rangle)\right) \\ (3.10) \quad & f_2\left(\frac{1}{\sqrt{2}}(\langle \vec{\theta}, y \rangle - \vec{v}A_{m_n} - \langle \vec{\theta}, \vec{\eta}_k \rangle)\right) \exp\left\{-\frac{\lambda}{2}\sum_{j=1}^m v_j^2\right\} d\vec{v} \end{aligned}$$

then by [6, Theorem 3.15] $L_{\lambda, \vec{\eta}}(\vec{\gamma})$ is an entire function. Furthermore as a function of $\vec{\gamma}$ $L_{\lambda, \vec{\eta}}(\vec{\gamma})$ is an element of E_σ ([8], Theorem 2.6). Hence for $\lambda > 0$, $((F_1 * F_2)_q | Z_{\vec{e}, k}) \in E_\sigma$ as a function of y .

□

In view of Theorems 3.1 and 3.3 above, conditional Fourier-Feynman transforms and conditional convolutions of functionals from E_σ for the general vector valued conditioning function are also belong to E_σ . Then by Theorem 2.4, we have the following result.

THEOREM 3.4. *Let F_1 and F_2 be as in Theorem 3.2. Then for each nonzero real number q ,*

$$(3.11) \quad \begin{aligned} & T_q^{(1)}((F_1 * F_2)_q | Z_{\vec{e}, k})(\cdot, \vec{\eta}_1) | Z_{\vec{e}, k}(y, \vec{\eta}_2) \\ &= T_q^{(1)}(F_1 | Z_{\vec{e}, k})\left(\frac{y}{\sqrt{2}}, \frac{\vec{\eta}_2 + \vec{\eta}_1}{\sqrt{2}}\right) T_q^{(1)}(F_2 | Z_{\vec{e}, k})\left(\frac{y}{\sqrt{2}}, \frac{\vec{\eta}_2 - \vec{\eta}_1}{\sqrt{2}}\right) \end{aligned}$$

for s-a.e. $y \in C_0[0, T]$.

References

- [1] R.H.Cameron and D.A.Storvick, *An L_2 analytic Fourier-Feynman transform*, Michigan Math. J. **23** (1976), 1–30.
- [2] K.S.Chang, D.H.Cho, B.S.Kim, T.S.Song and I.Yoo, *Conditional Fourier-Feynman transform and convolution product over Wiener paths in abstract Wiener space*, Integral Transforms and Special Functins, **14** (3) (2003), 217–235.
- [3] S.J.Chang and J.G.Choi, *Rotation of Gaussian paths on Wiener space with applications*, Banach J. Math. Anal. **12** (3) (2018), 651–672.
- [4] D.H.Cho, *A generalized simple formula for evaluating Radon-Nikydym derivatives over paths*, J. Korean Math. Soc. **58** (3) (2021), 609–631.
- [5] D.M.Chung and D.A.Skoug, *Conditional analytic Feynman integrals and a related Scrodinger integral equation*, Siam. J. Math. Anal. **20** (1989), 950–965.
- [6] B.A.Fuks, *Theory of analytic functions of several complex variables*, Amer. Math. Soc. Providence, Rhodo Island, 1963.
- [7] .Huffman, C.Park and D.Skoug, *Generalized transforms and convolutions*, Internat J. Math. and Math Sci. **20** (1997), 19–32.
- [8] B.J.Kim and B.S.Kim *Conditional integral transforms and convolutions for a general vector-valued conditioning functions*, Korean J. Math. **24** (2016), 573–586.
- [9] C.Park and D.Skoug, *Conditional Wiener integrals II*, Pacific J. Math. Soc. **167** (1995), 293–312.
- [10] C.Park and D.Skoug, *Conditional Fourier-Feynman transforms and conditional convolution products*, J.Korean Math. Soc. **38** (2001), 61–76.
- [11] D.Skoug and D.Storvick, *A survey of results involving transforms and convolutions in function space*, Rocky Mountain J. Math. **34** (2004), 1147–1175.

Bong Jin Kim

Department of Data Science, Daejin University, Pocheon 11159, Korea

E-mail: bjkim@daejin.ac.kr